IIwa—-Eibi 5

Izya-iEhENisHE

[B7E] 2SA726 OBE
B ke (BERE 257 5 e B
o kg 0 5.6 Pmax
15 B it B 84
25AT26-Y o g
3 10 =
2 IIR-ZEEBE | Veso -50 v S S ‘
mRE % il
Izy8= N-ZEEE | Veso -5 v # N S ap
: & X <1 i
aLTe- Ty A-BEL Vero =50 14 J \ 7.5 "‘/Z
, o P
3B - & -]
ILO-BE | I 700 | mA N AN EJM\)
Svoa-BEGear) A | 0 | ew | T e @y
A B E 5| w25 | v o2 w7 s | @:iR-R
. : BEBE 7 (0 @:ovys- HETOZ
B K =55~ + e PIEwR— ata
& EE lotg |786~+I28| LT A-R% BEBESY ©:ir=v%
|9 E  (FERE 257)
, LSS A
] =] T 5 b2 & % # 25AT26-Y #qg
B | 1EE | BxX
ALYE— - R-RBEREBE Viegyesp | Te=—~/0ud, Ir=0 ~50 — — %
IEZwi— "\“"Z%Ui%E /(93)550 ]E= “/0,&/,4, [C=0 -5 - -
JLJE—TEy 9“§§1X'§E ('/(55)550 ]C: —fﬂ&,u/l > A’BEZ‘-OOQ =50 _— -
aLTR—LEER Leso Veg= =25V, Ig=0 — - — HA
SV IR-LriER Leso Veg= =80V, Ir=0 — —_— -a.7 LA
SLIA-Le &R Teeo | Vep= =25V, ‘Rep= o052 — — 75 LA
IEwa—-LyEER L Jego Veg= —2V, Lr=0 — — -0/ uA
EABREESR /7[5 1/[52 ~&V, .[5=‘/)ﬂ/1 250 . 1200 -
VI I~ - TEF-BAREIE | Wpcoury | Jo=—10md, Fy=—]mhA — — -0.6 v
IXyd— RA-XERE Var Vep= =6V, Zle=—/mA —_ ~0.63 — v
A oW MR W Fr Vee=—6V, Ip=1ImA, f=100MKz — 700 — MHz
DVII-HNEE Con Veg=~6V, 1,=0, f=IMHz — 3 — pF
2 OE B K NF Vor==6V, Iz=0.7mA, F=I00kHz, Rp=10ks2 — 7.5 — a8
EERLSE | RVE nY Vep= =10V, Ir=Imh, Rg=/00k2 — — 300 my
HERE | o HE | M | Gu=80as — — 3 v
e D EREY EROPATARE| FTT A r & "
FITHTVET, . 250~500 | 400~800 | 600~7200
—2.0ud 1. 8uA
~50 ~10 — ~70
{10 | rezstc 9""‘5‘“’ To=2%T To= 257
2 \ ~pgu _A90uA -~ g =/ 4ud - p =l
X -0 # 80uA X -08 o I —gg |-ee=
S [~ 8 I W R
3\ a0 Sy AT 0 2
" —#0 //"501114 g W /”_[0 Sud g
o / - ~#44 @ = &
Y, e =T I =04 = —Mx/A Dk\—o,.;
a ;/ ~20uA a IF——""' —MJIA N
D - ] e 1 -2 o — L R/.) S S
n A n | 9.2uf A j
oL 1,=0 s Z=0_| ’
0 -l W =30 -4 -& g -2 —4 6 =8 -V 0 -02 —04 —06 —08 -0
DLIE— LI R—EBIE I V) OUIE— I -ERE e () N—Rexzy&~BBIE Ve (i)

I zwys—ikib{REHH




